Answer Key

Name Date

WParbiaQ Products Method #2

Step 1. Multiply by the ones.
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Step 2. Multiply by the tens.

NN Step 3. List the partial products.
Step 4. Add all of the partial products to find the total.
Gxampﬂe: 54 x 26 54 think 50 + 4
x 26 think 20 + 6
24 (6x4)
300 (6 x 50)
80 20 x 4 ) .
( ) Direcktions: Find the product
+ 1,000 (20 x 50) . .
- using the partial products method.
1,404
]. 2.
28 2|5
x4 |5 x |2 18
410 40
110 |0 11610
312|0 1(0]0
+ 8/01|0 + 4|l0l0
1,2 6 0 7 0 0
3. 4,
6|1 3|7
x |54 x |4 |4
4 2|8
24 |0 11210
510 21810
+ 0/{0]|0 +1112|1010
3,2 9 4 l, 6 2 8

© ThuVienTiengAnh.Com



Page 2

Answer Key

Date

Name

Partial Products Method #2 contd.

N — O N O o| O 0 N o o ©
o O ol - < ™M O| O ™M [gV] ol «
x < | © x N © x < 00| 1
| v | - o
+ + +
o
o
—
< N o | o N ol m N — o ol NN
O ol N — N o N o< ~ o 1
X olm X N o X 00| O
M| o ~N| N
+ + +
o=

© ThuVienTiengAnh.Com



